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10) Which of these functions has of (0, 7)? —
(OJC)‘) ) f(x)-x’+£x+7s+u-nd. (OJ-—‘I fix) =3 -7 stond .
€ fX)=-x+5+7 yaxtex. ( fx) = 2(x-1Ax+S) o} . s

1) What could be the equation of a parabola that opens down and has a vertex of (-3, -6)
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| Z) What are the x-intercepts of the function f(x) = (x + 1)(x +3)? — int: + Aormm
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Learning Target #2: Graphs and Different Forms of Quadratic Functions ssassssssssnan) L’)
| 3)Which of the equations below could represents the graph at the right? et iiesasas
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